Add three humbers each less than 99

Name:

11 + 61 + 88 =

/8 + 88 + 20 =

14 + 62 + 73 =

69 + 34 + 57 =

45 + 25 + 67 =

17 + 82 + b4 =

79 + 62 + 45 =

9 + 91 + 37 =

18 + 19 + 72 =

29 + 88 + 46 =

23 + b4 4+ 91 =

45 + 89 + 20 =

R BB

Working MathematiCally
1) Year 5 and 6 Class Sizes

Class | Number of
Children
5H 33
BR 26
56 24
6P 34
66 30
65 29

a) How many children in year 5?
b) How many children in year 6?

c) How many children in year

5 and 6? _
d) There are 756 children in the

school. How many children in
years K-4 altogether?  —

2)

Earth SKZip

The rocket flew from Earth Yo Omeik
then to SKZip and back to Earth. How
long did the trip take?

3) Our school received 63 ducklings,
56 lambs and 29 piglets for our
school farm. How many animals did
we get?
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